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Grade 7: Post-Course Test (1 - 48)

P
8. At4 P, the total snowfall is 2 centimeters. At 7 P, the total snowfal is 12 centimeters. What is the mean hourly
snowfall? Write your answer in simplest form as a fraction or mixed number.
1 Evaluate the expression.
‘The mean snowfall is [ centimeters per hour.
(8:5-2) +2= ]
e et et o T -4 Qo 1
o e et e -8 i
9 Wite the fraction as a decimal.
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3 Simpity the expression. Writs your answer as a power. R AT G e 10, Find the product. Write your answer as a fraction or a mixed number in simplest form.
1. (_5)\=
wr-g {40
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4 simplify the expression. Wite your answer as a Sy =7 11 Find the quotient. Write your answer as a decimal.
P -88+(-32)=
e (-2)=[]
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26 Write an equation for the proportional relationship shown in the table. 372k A i S
ey R
2. Write the percent as a decimal.
x|os|1|15] 2
y| 27|54 81108 =[]
e R 2230 P o Ve Qeen 63
r=(=
30 Wite the decimal as a percent.
e 3 om0  Quon 38 %
028= )%
21. Find the constant of proportionality k in the equation y = 28x .
e i P T -t Qe
k 31 .
= D You estimate that there are 64 marbles in a jar. The actual amount Is 46 marbles. Find the percent error. Round to the
nearest tenth of a percent if necessary.
Gt L e P Yo 1 8 e 1 AL
cm : 6 ft. Find the actual percent error &
2. A scalo drawing of a square has a side length of 6 contimeters. The drawing has a scale of 1 (W0
perimeter and area of the square. .
e 223 T et T - Qe 2.
Pamer. = [7]8 3 Find the selling prico of a $10 tem after  50% markup.
Area =["|n?
D The selling price i q
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There are 9 yeliow marbles and 10 sitver marbles in a bag. You rar
. indomly choose one of th
probability of choosing a yellow marble? Write your answer as a fraction in simplest form. bt

- You ask 120 randomly
Estimate the number

Chocolate
Strawberry
Chocolate Chip

Actity Preview.

£ lnnnummyoup'lo\llplu'shlplMwln-m\hrmmﬁmmﬁw.mwmmnywllmphhlw
an asteroid, You already have 45 points. Graph your possible final scores for the game.

L 1 : . ' \ 4 . s 4
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41 42 43 4“4 45 48 47 48 49 50 51
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i
‘The probability of choosing a yellow marble is 1
Which statement describes your possible final score?
Gt 2 im0 Qe 3 O Your final score is less than 45 points.
T ekl shens e z O Your final score is at least 45 points.
number compare with the theoret 250 tmes. How does the experimental probabily of roling an even
tical probability? O Your final score Is at most 45 points.
Rolling a Number Cube O Your final score is greater than 45 points.
Numberrolied 1 2 3 4 5§ 6
e G oo el 8
Times rolled 41 40 40
42 49190 2L Graph the solution of x — 5> 4 .
The tal
experimen Mmmmwmmnmu@.muhwmamwmmm
l G g ettt e gi i
[ to0m experimental pobabilty closer to the theoretcal probablty,| ] the number o trials. B T ARG e O W T T
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ce crea
ofthldenhinﬂnlchooivmouhvumamm:m';muglmwm:wenkhmnmm, Movie A Movie B
'avor is chocolate chip.
Favorite Ice Cream Flavor . 34 25 28 29 27 44 45 42 43 45
% 32 26 32 30 3 a2 46 41 4 B
* 32 29 33 31 3 40 33 40 41 47
z 313130 35 29 48 43 44 41 43
19 30 28 30 29 30 43 44 44 43 45
32 30 28 27 28 42 4245 46 3B
The number of students in
the school whose favorita
ice cream flavor is chocolal
89 chip 6 sbout ] Which data set has a greater center?
O Movie A Actviy P
O MovieB In general, which movie has younger viewers?
© The centers are the same. O MovieA
O MovieB
Which data set has greater variation?
O Viewers of both mavies are about the same age.
O MovieA

‘O Cannot be determined
O Movie B

© The variation is about the same.
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% Afarmer displays how the milk production of cows varies from least to most. Which dis

ropresent the data?
© Box-and-whisker piot
O Stem-and-loat piot
O Bargraph

T —

2 23556779

3 00334555699

4 004558
5 0122
Kay: 1[8 = 18 miles per gatlon

The | the most

play is the most appropriate to

most appropriate measure(s) to describe the variation.
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The stem-and-eaf plot shows the gas mieages of several vehicles made by a company.
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Actty Preview

. What is the interest camed after 8 years?
mmmugmswm.
. What s the balance after 8 years?

The batance is §_| after 8 years.

Cone 7Lt . oo T 5 i 1)

You deposit $100 in a savings account. The account eams 5% simple interest per year.

O Cersin
O Ukety

O Equally ikely o happen or not happen
O Untikely

O Impossibie

o . 351 P e o 14 ot 64

The probabilty of an event is %.Doufhomllkdlmodofmwent
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22 Graph the solution of 3x > 21 .
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A person walks %ml‘eln %—hour.

The person's speed Is (] miles per hour.

Conde et T - oo 23

24, Tell whether 19:9 and 13:7 form a proportion.

O Yes O No

Caten Gt T P e T - Quesion 24
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16.  Find the difference.

S Rl

a3t .ot G ot oo 41
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Cnta T2t T P o T 16 Qo 18

19, you install 580 feet of fencing along the perimeter of a rectangular yard. The width of the yard is 144 foet. What is the
length of the yard?

mr«nqmotmyuthmL

T L2520 e o T - 45 Qe 13

15 Each person in a group buys a S

movie ticket, a drink, and a popcom.
How much does the group pay
when there aro 4 people in th
group? Drink  $2.25

Tickot $7.00

Popcom ~ $3.00

O $1225
O $16.25
O $28.00
O $40.00
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5. Find the sum. Writo your answer in simplost form. 42 Find the area of the parallelogram.
I T
‘7“7'D 324, 044 A Acvey Proview
Adamm L Tn-d:asgmphmwnummmnsolpcuoodm.uwmmmm
S —— . Pet Food Sales
& Flr\dmdmm4wmywrmwuasadednul. 15mm
1-(-18)=0 A=(Jmm?
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7. Tho table shows the change in the water level (in centimelers) of a reservoit for throe months. Find the total change in the
mmwmmmwmm.wmnmnnmru.hm or mixed number in simplest form.
Change In water level .
""““"\ (contimeters)
l 12
1 \ 17
2
2 \ 13
E‘ ; The circle graph represents $5,000 in sales. How much was collected for fish food?
| The amount colfected for fish food is S}
mmmnmwurmmmmmwugmm.
e e 3 P o - o 1
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12 Evaluate. Write your answer as a fraction or mixed number in simplest form. S
43 Find the area of the rapezoid.
un
Gt T 223G P Pum G T (.- 4 Question 412 un
13 An oniine retaller allows customers to rate floms on a scale from -5 to 5. An iten recelves the scores below:
0,-1.25,-0.75, 4.5, -0.25, -4.25, -1.5
Find the mean score. Write your answer as a decimal. i 14n
The mean score is [} A%
i o 18 Q2
b e e M B e e o i o 4 Qe 3
14 Simplify the expression. P

Find the circumference of the circle. Give the :
piaces exact answer as well a5 3n approximate answer rounded 1o two decimal

o L T Pt o e 40 Qoo 4

i crfoiR s o Y et -

- Simpity L(6x-2) + 10

L(6x-2) +10c=
7 O The ciroumference is [, or about[_Jem.
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aan Actty Proview

TS
45 Find the area of the circle. Give the exact answer as well as an approximate answer rounded to two decimal places.

The areals[ ] x, or about [~] cm?.

a2 L2 P e e 4 Qe s

46 Find the perimoter and the aroa of the figure. Round answers to the nearest hundredth if necessary.

24cm

The perimeter is [ centimeters.

The areais D square centimeters.

1324, 9.04 AN
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The density of the substance is D kilogram(s) per liter.
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Acity Preview
Find the surface area of the cylinder. Round your answer to the nearest tenth.

&=

16.8 cm

SaJemt

e 1L ent Pt o e -4 Qoo 47

“ Find the volume of the cylinder. Give the exact answer as well a5 an appraximate answer o the nearest fenth.
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